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1. Av N < Z(G) o G/N eivon xuxdunt| t6t€ 1 G elvon obehavn. (Aceilte npdto 61 N IG).

2. 1) Av A, B afehovéc umoouddeg tng G téte n A N B elvon xavovixr unooudda e < A, B >.
2) Av G pn xuxdux (nenepacpevn) opdda T.w. x&de yvroto vtoodudda e elvon ofelavi), téte N G TEpLEyEL
YVACLOL XOVOVIXY] U1) TETEWHEVY uTooudda V.

3.Av H elvor subnormal uroopdda tne G t6te ©(H) < &(G).
Av N 4G xau N < ®(G) t6te ®(G/N) = &(G)/N.

4. DAVC 9 A xaw DB té1e (Cx D)< (A x B) v (Ax B)/(C x D)= (A/C) x (B/D).

2) Av A elvou afelav xou D 1 Siarydovia uroouddo D = {(a,a) | a € A} e A x A téte 1 D elvon xovovixy
uroopdda tne A X A xou (A x A)/D = A.

3) To 2) napandve dev woylder av A dev elvon offehav. Aeite 6t av A = Sz t61E 1 drrydvioe D dev ebvan
xavovixy) uroopdda tne A x A.



